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. (6p) Build up a formal ISLM model, which implies: There is a positive effect on output from an
expansionary fiscal policy, but no effect on the rate of interest.

. (6p) Let the two period lived consumer’s lifetime utility function be:
1-o l1-o

LERDE cll_ . +p 6;2_ — wherel> >0 and 6>0 and o #1. The storage technology in

the two-period model is f(k) = Ak, where 4> 0. Solve the planner’s problem, i.e.c;,cpand k.
Is the solution always unique? Argue briefly that your solution is also a competitive equilibrium.

o0
. (6p) Consider the following problem: maximize Z B'In ¢; subject to ¢, +k = AkS.
t=0
0<pB<1, 0<a<land 4>0. Solve the problem with dynamic programming as far as you can.
In particular, answer the following questions:
(i) Write down the Bellman equation.
(i)  Characterize the steady state.
(iii)  Sketch the dynamics as far as you can.
(Hint: there is the Euler condition somewhere!!!).

. (6p) Consider the following macro model, where the variables are in logarithms:
()  m=p+y

@  p=p°ta(y-y*, a>0

3) m=m+w.

Equation (1) is the demand function for money, (2) is the Phillips curve and (3) the monetary
policy rule. y * is the potential output. @ is a shock to monetary policy. Its mean is zero and the

variance is finite. p° is the expected price level. Solve the rational expectations equilibrium of
the model, i.e. solve the level of aggregate output (y ) and price level ( p) in that equilibrium.

What is p®, when the economic agents (taloudenpitsjit) have rational expectations?

. (6p) Build up a formal neoclassical (Solow, Swan) growth model, and characterize the golden
rule allocation.

. (6p) The public debt as a fraction of GDP (b,) evolves over time in the following manner:

1+~
bg=d+
t+1 1+

b, . dis the primary deficit as a fraction of the GDP, r the real rate of interest

and g the growth rate of the real GDP. You can assume: » >0and g > 0. Ifd >0, is it possible

that the debt in a stationary state is always positive? If your answer is yes, do you need some
assumptions for that result? Under what conditions does the debt (per GDP) explode?

Return the question sheet!!!



